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QUIZ-01

1. g d 3 B v R & agUg (Polynomial) &7
A X+ 1/x B.x?+3x+2
C.3+ (1/2)x

&r&YT; dgue W TR Pl urd YuTies el arfee| fdbed B
4 2Id P R BT &l

2. §8US 4x3 - 5x% + 6X - 9 &1 °Td (degree) FATE?

A.2 B.3

7T TR x b1 3feibdH ©1d 3 8, 37d: °7d 3 EPil|
3. FRufafaa® & @1 fgug (binomial) &7

A 2x +3x2 + 4 B. X

Cx*-5
e fgue # Pad g ug 8d 81 x2 - 5 H G UG 2
4. SGUTC p(X) = 2X + 6 BT AT E?

A -2 B.3

7T : 2% + 6 = 0 Dl 8 B W x = -3 UTd eldl &l
5. foft 9gUe &1 YT IE A ElaT & T8 -
A. FgUC YRS &1 STTdT &

B. SgU¢ YHTcH® &l 5T1dl &

C. §IgUq Pl | [ &1 57T @

7T : TEUE BT [T T HH E1dT & ST8T IgUG Bl 77 0

giar gl

D. 3x +1/x (B)

C.4 D.1 (B)

D.3x2+4x+5  (Q)

C. -3 D.-6 ©)

D. ©Td §¢ 3Td1 8 ©)

6. (x +y)> &I fazaTRa & & foie B -Ht gam
(identity) TIPTEAT 22
A X3+ Y3+ 3xy(x +y)
Cx-y? D.x? - y? (A)
Answer: A
7&T: TE S1 Ut & IPT & o BT T 2l
7. SgUG p(X) = X2 - 9B I T 8?
A. pdd 3 B. %3
C.bdd -3 D.0 (B)
7T x* - 9 = 0 Pl 8T A W x = +3 fHeTar el
8. fTa # § PH-ATUE IgUC T8l 87
A x+1

B. x% + 3x

C.x +1/x D.4x%-x+2 (@)

1T : 1/x = x' H TR 6 ©Td KUTHSP 8, 511 IgUS H &l
Bldtl

9. ax?+ bx + c PUBI IgUT (maTa # 0) T HEATAT 8?
A IRdB B. &g

C. fgama D. fgug ©)
7T : ©1d 2 a1l gy B! fgeTd 9guc ded &l

10. [ S[gUE bl TTd FIT &Il &?
A.0 B.1
C. 379RMTSa D. 3Hd (@)
7T ; [ SgUC Bl BIg HiFd ar1d TEl 8idt, SHfeiT 54
YRHTSIE AT STTdT 2l




